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| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each |
| sentence. Then mark the answer on your answer sheet. |

1-  You’d better check out the —---- before deciding whether to go to a nearby college.
1) components 2) foundations 3) reflections * 4) alternatives
2-  The workers have still not been -—--—-—- for their loss of wages.
1) perceived 2) established 3) compensated 4) maintained
3- By the age of twenty, she had already fame and wealth.
1) achieved 2) confined *3) compiled 4) restored
4-  Inm all parts of the U.S. there is rainfall except near the rncky mountains.
1) suitable 2) acceptable 3) adequate - 4) widespread
S- Health education programs are starting to people’s eating habits.
1) deviate ‘2) influence - 3) implement 4) fluctuate
6-  Witsky’s article describes the authority of a leader’s behavior.
1) dimension - 2) resolution 3) confnrrmt}r 4) consequence
7- - The government will examine the advantages of the —-— teaching methods used in
schools.
1) discrete -2) various 3) adjacent 4) incompatible
8- Clouds can be into family groupings according to their height and shape.
1) specified 2) registered 3) classified . 4) distributed
9- 1was amazed at Sam’s lack of =~-—---— about singing in public. -
1) inhibition 2) simulation '3) manipulation 4) contradiction
10- Freud was very interested in the ' of people’s dreams. i
1) regulation 2) coordination 3) intervention 4) interpretation

S S ——

| PART B: Grammar

| Dmecrmns. Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

— e

A little more than a hundred years ago, a number of European scholars began to record stories

(11) —==mrmeme- told in peasant cottages and compile them (12) ------=--~—- the first great collections of
European folk tales. (13) --—-=----- evidence exists to prove that the folk tales they recorded existed
long before then, (14) --------—-. Collections of sermons from the 12th to the 15th century show that
medieval preachers knew of some of the same stories (15) ==-==--x--- by the 19th century folklorists.

11- - 1) that 2) were 3) which 4) being

12- 1)for 2) into 3) from 4) within

13-, .1) To write 2) Written 3) They wrote 4) Writing
14- 1) yet 2) 100 3) though 4) perhaps

15- 1) for being recorded = 2) like those 3) as recorded 4) as those recorded
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Part C. Reading umprhensiun

[ Directions: Read the fnﬂawmg three passages and choose the best choice (1), (2), (3) or (4). Then
| mark it on your answer sheet.

PASSAGE 1:

Mcdical education. is education® connected to the practice of being a medical

practitioner, either the initial training to become a physician or further training
thereafter.

Medical education and training .varies considerably across the world, however

typically involves entry level education at a university medical school, fﬂlluwad by a
period of supervised practice (Internship and/or Resldenc}') and possibly postgraduate

vocational training. Continuing medical education is a requirement- of many
regulatory authnntles :

Various teaching methodologies have been utilized in medical educatmn which is an
active area of educational research

-Frese:nt]y, in England, a typical medicine course at university is 5 years (4 if the
student already holds a degree). Amongst some institutions and for some students, it
may be 6 years (including the selection of an intercalated BSc - taking one year - at
‘some point after the pre-clinical studies). This is followed by 2 Foundation years
aftetwards, namely F1 and F2. Students register with the UK General Medical
Council at the end of F1. At the end of F2, they may pursue further years of study.

16- Medical Education is concerned with the
1) practice of becoming a physician
'2) imtial training to become a physician
3) further training after becoming a physician |
4) early education to be a doctor and additional education thereafter
17- According to the passage, medical training is throughout the world.
1) greatly normal 2) largely conventional ~ 3) remarkably dlfferent 4) nnnmderably similar
18- Which statement is NOT true about ‘medical education’?
1) It normally involves a period of supervised practice.
2) It essentially deals with Internship and/or Residency.
3) It necessarily includes postgraduate professional training.
4) It typically concerns entry level education at a medical school.
19- If a person has a degree, a typical medicine course at university -
1) is five years in England 2) takes four years in Eumpe
3) takes five years everywhere in the world 4) 1s four years anywhere in the world
20- The author finally concludes that the students
1) must follow their studies after finishing F2
2) can go on with additional studies after F2
3) are able to be involved in supervised practice after F2
4) have to continue further years of study after finishing F2




21- According to the passage, the
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PASSAGE 2:

Criticism of modemn medicine has led to some improvements in the curricula. of
medical schools, which now teach students systematically on medical ethics, holistic
approaches to medicine, the biopsychosocial model and similar concepts.

The inability of modern medicine to properly address some common complaints.
continues to prompt many people o seek support from alternative medicine. Although
most alternative approaches lack scientific validation, some may be effective in

individual cases. Some physicians combine alternative medicine with orthodox
approaches. : '

Medical errors and overmedication are also the focus. of many complaints and
-negative coverage. Practitioners of human factors engineering believe that there is
much that medicine may usefully gain by emulating concepts in aviation safety,
where it was long ago realized that it is dangerous to place too much responsibility on
one "superhuman" individual and expect him or her not to make errors. Reporting

systems and checking mechanisms are becoming more common in identifying sources
of error and improving practice.

of modern ~medicine has resulted in certain
enhancements in the subjects offered by medical schools.

1) devotion 2) approval 3) evaluation 4) recognition

22- What does ‘holistic’ in the second line refer to?

24- Many complaints and negative reports

25- The author finally concludes that

1) dealing with all aspects of something

2) thinking about particular aspects of something

3) concerning both all and particular aspects of something

4) regarding neither all nor particular aspects of something

23- Why do some usual complaints make people resort to orthodex approaches? Because modern
medicine -—, |

1) cannot look for help from alternative medicine

2) cannot cure some medical disorders properly

3) does not listen to some complaints on the part of the patient

4) does not regard alternative medical approaches scientifically valid

medical errors and overmedication.
1) meet ' 2) join

3) look carefully at 4) pay particular attention to

1) human beings must be replaced by reporting systems and mechanisms

2) it 1s not safe to rely on reporting systems and mechanisms

3) one must depend on superhuman individual to do his or her responsibility
4) using machine in medical error and overmedication is customary these days
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PASSAGE 3:

26-

27-

28-

30-

The physician-patient relationship. can be analyzed from the perspective of ethical
concerns, in terms of how well the goals of non-maleficence, beneficence, autonomy,
and justice are achieved. Many other values and ethical issues can be added to these.

In different societies, ptnnds, and cultures, different values may be assigned different

priorities. For e:xamp}e, in the last 30 years medical care in the. Western World has .
increasingly emphasized patient autonomy in decision making.

The relationship . and process can also be analyzed  in terms of social power
relationships (e.g., by Michel Foucault), or economic transactions. Physicians have
been accorded gradually higher status and respect over the last century, and they have
been entrusted with control of access to prescription medicines as a public health
‘measure. This represents a concentration of power and carries both advantages and
disadvantages to particular kinds of patients with particular kinds of conditions. A
further twist has occurred in the last 25 years as costs of medical care have risen, and
a third party (an insurance company or government-agency) now often insists upon a

share of declsmn—maklng power for a variety of reasons, reducmg freedom of choice
of healthcare providers and patients in many ways.

On the basis of the above passage, one can study the relatmnshlp between the physician and
the patient from the
1) viewpoint of ethical affairs 2) standpoint of exemplary distresses
3) standpoint of honorable worries 4) perspective of virtuous anxieties

According to the author, all cultures
1) assign the same priorities to different values

2) attribute various priorities to different values |

3) give the top importance to ethical values more or less in the same way

4) grant identical levels of significance to human behaviors in terms of ethical norms and principles
In the previous thirty years medical care in the West, the patient’s in decision making.

1) independence grew 2) autonomy declined

3) autonomy was reduced 4) independence decreased

Society gave during the last century.

1) physicians higher prescription moderately 2) doctors greater prescription progressively
3) physicians higher prestige cautiously  4) doctors greater prestige slowly

The author concludes that the
1) autonomy of physicians has expanded

2) social power of government agencies has increased
3) autonomy of both doctors and patients has declined
4) social power of the third party has reduced

after an additional change in the last twenty five years.
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